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Entanglement  measure  for  two   d e l o c a l i s e d   electrons 

A B two ‘spins’ 

C.H. Bennett et al., Phys. Rev. A 54, 3824 (1996); 
S. Hill and W.K. Wootters, PRL 78, 5022 (1997). 
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Entanglement  measure  for  two   d e l o c a l i s e d   electrons 

A. Ramšak, I. Sega, and J.H. Jefferson PRA 74, 010304(R)  (2006) 
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Rigid rotator 

P. R. Holland. Phys. Rep. 169, 293 (1988)  &  The Quantum Theory … book 



Classical dynamics of rigid bodies … 
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De Broglie – Bohm:  two spin ½ particles  

dBB: 

standard QM: 

〈...〉 =
∫ ∫ ∫ ∫ ∫ ∫

...|ψ|2 sinαA sinαBdαAdαBdβAdβBdγAdγB∫ ∫ ∫ ∫ ∫ ∫
|ψ|2 sinαA sinαBdαAdαBdβAdβBdγAdγB

(16)

6〈MzMz〉 (17)

〈MxMx〉 =
1
6
〈σxσy〉 (18)

〈MiMj〉 =? (19)

M̂i =
1
2
σi, i = x, y, z (20)

〈MxMx〉 =
1
6
〈σxσx〉 =

2
3
〈M̂xM̂x〉 (21)

〈MyMy〉 =
1
6
〈σyσy〉 =

2
3
〈M̂yM̂y〉 (22)

〈MxMy〉 =
1
6
〈σxσy〉 =

2
3
〈M̂xM̂y〉 (23)

〈MxMz〉 = 〈MyMz〉 = ... = 0 (24)

〈MzMz〉 ∼ −(5 + cos 2ϑ)/24 =
1
6
(5 + cos 2ϑ)〈M̂zM̂z〉 (25)

(26)

〈cos ΦAB〉 = 〈
'MA · 'MB

| 'MA|| 'MB|
〉 = 〈MxMx + MyMy + MzMz

| 'MA|| 'MB|
〉 (27)

∆(cos ΦAB)2 = 〈cos Φ2
AB〉 − 〈cos ΦAB〉2 (28)

〈cos φAB〉 = 〈MxMx + MyMy

| 'MA|xy| 'MB|xy

〉 (29)

∆(cos φAB)2 = 〈cos φ2
AB〉 − 〈cos φAB〉2 (30)

Hint = J(t)SA · SB (31)

C(t) = | sinJt| (32)

C ≤
√
〈cos φAB〉2 + 〈sinφAB〉2 (33)

If ∆(cos φAB)2 = 0 then ∆(sinφAB)2 = 0 and 〈cos φAB〉 ≡ φ and C = 1.
Conserved Sz case

2

Euler angles

ψ = ψ(α,β, γ) = ReiS (1)

ψ = ψ(α,β, γ) (2)

M̂2ψlm = l(l + 1)ψlm (3)

M̂zψlm = mψlm (4)

Ĥ =
M̂2

2I
(5)

Qs = − 1
2I

M̂2R

R
(6)

H =
1
2
I%ω2 + Qs =

%M2

2I
+ Qs (7)

%M = %M(αβγ) = I%ω (8)

%ω =
1
I
M̂S (9)

Mx = − cos β ∂S/∂α + sinβ cot α ∂S/∂β − sinβ cosec α ∂S/∂γ (10)
My = sinβ ∂S/∂α + cos β cot α ∂S/∂β − cos β cosec α ∂S/∂γ (11)
Mz = −∂S/∂β (12)

l = 1
2 :

ψ 1
2

1
2

= u+ ∝ cos
α

2
e−i(β+γ)/2 ∼ 〈αβγ| ↑〉 (13)

ψ 1
2 ,− 1

2
= u− ∝ sin

α

2
ei(β−γ)/2 ∼ 〈αβγ| ↓〉 (14)

|ΨAB〉 = cos
ϑ

2
| ↑A↓B〉+ eiϕ sin

ϑ

2
| ↓A↑B〉 (15)

〈σiσj〉 =




sinϑ cos ϕ sinϑ sinϕ 0
− sinϑ sinϕ sinϑ cos ϕ 0
0 0 −1




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Results: static qubits  

singlet 

triplet 

Euler angles

ψ = ψ(α,β, γ) = ReiS (1)

ψ = ψ(α,β, γ) (2)

M̂2ψlm = l(l + 1)ψlm (3)

M̂zψlm = mψlm (4)

Ĥ =
M̂2

2I
(5)

Qs = − 1
2I

M̂2R

R
(6)

H =
1
2
I%ω2 + Qs =

%M2

2I
+ Qs (7)

%M = %M(αβγ) = I%ω (8)

%ω =
1
I
M̂S (9)

Mx = − cos β ∂S/∂α + sinβ cot α ∂S/∂β − sinβ cosec α ∂S/∂γ (10)
My = sinβ ∂S/∂α + cos β cot α ∂S/∂β − cos β cosec α ∂S/∂γ (11)
Mz = −∂S/∂β (12)

l = 1
2 :

ψ 1
2

1
2

= u+ ∝ cos
α

2
e−i(β+γ)/2 ∼ 〈αβγ| ↑〉 (13)

ψ 1
2 ,− 1

2
= u− ∝ sin

α

2
ei(β−γ)/2 ∼ 〈αβγ| ↓〉 (14)

|ΨAB〉 = cos
ϑ

2
| ↑A↓B〉+ eiϕ sin

ϑ

2
| ↓A↑B〉 (15)

〈σiσj〉 =




sinϑ cos ϕ sinϑ sinϕ 0
− sinϑ sinϕ sinϑ cos ϕ 0
0 0 −1





1
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Results  

2/3 factor due to quantum torque and quantum potential 

Example: 1 electron case   

〈...〉 =
∫ ∫ ∫ ∫ ∫ ∫

...|ψ|2 sinαA sinαBdαAdαBdβAdβBdγAdγB∫ ∫ ∫ ∫ ∫ ∫
|ψ|2 sinαA sinαBdαAdαBdβAdβBdγAdγB

(16)

6〈MzMz〉 (17)

〈MxMx〉 =
1
6
〈σxσy〉 (18)

〈MiMj〉 =? (19)

M̂i =
1
2
σi, i = x, y, z (20)

〈MxMx〉 ∼ 1
6
〈σxσx〉 =

2
3
〈M̂xM̂x〉 (21)

〈MyMy〉 ∼ 1
6
〈σyσy〉 =

2
3
〈M̂yM̂y〉 (22)

〈MxMy〉 ∼ 1
6
〈σxσy〉 =

2
3
〈M̂xM̂y〉 (23)

〈MxMz〉 ∼ 〈MyMz〉 = ... = 0 (24)

〈MzMz〉 ∼ −(5 + cos 2ϑ)/24 =
1
6
(5 + cos 2ϑ)〈M̂zM̂z〉 (25)

(26)

〈cos ΦAB〉 = 〈
'MA · 'MB

| 'MA|| 'MB|
〉 = 〈MxMx + MyMy + MzMz

| 'MA|| 'MB|
〉 (27)

∆(cos ΦAB)2 = 〈cos Φ2
AB〉 − 〈cos ΦAB〉2 (28)

〈cos φAB〉 = 〈MxMx + MyMy

| 'MA|xy| 'MB|xy

〉 (29)

∆(cos φAB)2 = 〈cos φ2
AB〉 − 〈cos φAB〉2 (30)

Hint = J(t)SA · SB (31)

C(t) = | sinJt| (32)

C ≤
√
〈cos φAB〉2 + 〈sinφAB〉2 (33)

If ∆(cos φAB)2 = 0 then ∆(sinφAB)2 = 0 and 〈cos φAB〉 ≡ φ and C = 1.
Conserved Sz case

2

Conserved (Sz = 0 case)
∆(cos φAB)2 = 0 → perfect entanglement, C = 1. C = 2|〈S+

AS−B 〉| = | sinϑ|
Example: J(t) is step function and |ΨAB(0)〉 ∼ ↑↓
Jt = π/2
Example: ϑ = π/2 and ϕ = π
weak interaction limit, Jt → 0
typical general case 〈H〉 ≡ 〈Ĥ〉

3



Angles between dBB spins  



Angles between dBB spins  

singlet: 180 deg 

triplet: ~ 71 deg 

“               “ 



Fluctuations of angles between dBB spins  

singlet 

triplet 



x-y plane  angles between dBB spins  

singlet 

triplet 

〈...〉 =
∫ ∫ ∫ ∫ ∫ ∫

...|ψ|2 sinαA sinαBdαAdαBdβAdβBdγAdγB∫ ∫ ∫ ∫ ∫ ∫
|ψ|2 sinαA sinαBdαAdαBdβAdβBdγAdγB

(16)

6〈MzMz〉 (17)

〈MxMx〉 =
1
6
〈σxσy〉 (18)

〈MiMj〉 =? (19)

M̂i =
1
2
σi, i = x, y, z (20)

〈MxMx〉 =
1
6
〈σxσx〉 =

2
3
〈M̂xM̂x〉 (21)

〈MyMy〉 =
1
6
〈σyσy〉 =

2
3
〈M̂yM̂y〉 (22)

〈MxMy〉 =
1
6
〈σxσy〉 =

2
3
〈M̂xM̂y〉 (23)

〈MxMz〉 = 〈MyMz〉 = ... = 0 (24)

〈MzMz〉 ∼ −(5 + cos 2ϑ)/24 =
1
6
(5 + cos 2ϑ)〈M̂zM̂z〉 (25)

(26)

〈cos ΦAB〉 = 〈
'MA · 'MB

| 'MA|| 'MB|
〉 = 〈MxMx + MyMy + MzMz

| 'MA|| 'MB|
〉 (27)

∆(cos ΦAB)2 = 〈cos Φ2
AB〉 − 〈cos ΦAB〉2 (28)

〈cos φAB〉 = 〈MxMx + MyMy

| 'MA|xy| 'MB|xy

〉 (29)

∆(cos φAB)2 = 〈cos φ2
AB〉 − 〈cos φAB〉2 (30)

Hint = J(t)SA · SB (31)

C(t) = | sinJt| (32)

C ≤
√
〈cos φAB〉2 + 〈sinφAB〉2 (33)

If ∆(cos φAB)2 = 0 then ∆(sinφAB)2 = 0 and 〈cos φAB〉 ≡ φ and C = 1.
Conserved Sz case
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Fluctuations of x-y plane  angles between dBB spins  

singlet 

triplet 



Entanglement 



Entanglement 



Dynamics 



Dynamics 



Dynamics 



Summary 


